ALGA€EN 10N: MoAvdlaotaTol Mivakeg

Tuipa Emotiung YnoAoylwotwy, Mavemotriuo Kpitng

Eloaywyr] otnv EmotAun YIToAoyloTwy
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Mivakeg MOAAWY dLAOTACEWY

@ Mivakeg MOAAWY dLaoTAoEWY

o Mivakeg pe ypapuég kat oTtAAEG (m X n niivakag)
o Onwg KoL 0T HOONUATIKA: TIPWTA YPAUUN KAl LETA 0TAAN

AlodldoTtaTtog nivakog

| Column 0 | Column 1 | Column 2 | Column 3 |

Row 0 || a[0][0] a[0][1] a[0][2] a[0][3]
Row 1 || a[1][0] al[1][1] a[1][2] al1][3]
Row 2 || a[2][0] a[2][1] a[2][2] a[2][3]
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Mivakeg MOAAWY dLAOTACEWVY (2)

@ AAQAwaon moAvdldoTtaTtou mivaka
e int c[2][4];

Fevikr] popon

type array_name[rows][columns];

@ Xprion moAvdldotaTtou mivaka
o c[i][j] = 3;
e int *ptr = c[i];

Fevikr] popon

array_name[row][column]
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Mivakeg MOAAWY dLaoTACEWVY (3)

@ AmnoBrikevan oTn PMVAKN c[0][0] -
o lMpwta n oepd 0, uetd n ceLpd 1, K.0.K.
cron1] [ EE

cron2] [ EE
cro1r31 S
craiol [
cl11r1] [
cl1112] [
cr1131 [

@ Apykormoinon: énwg n apyLkomnoinon mivaka, aAAQ HE
nivakeg wg otowyela
e int b[2][2] =4{ {1, 2}, {3, 41} };
o Ta eowtepkd { } SaxwpiCouvv ypauuég Tou mivaka
@ Av dev elval apkeTd Ta oToxela, Ta vdAotna yivovtol @7
e int b[2][2] = { {1}, {3, 41} };
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MoAvdildotaTtol Mivakec we Opilouata

@ Mavta nmpénetl va dnAwveTtat To péyebog KaBe didotaong,
EKTOC and TNV MPWTn dtdotaon (aPLBUOC YPAUUWY)

Mapddetyua

int f(int a[][10][20])
{

int main(void)

int b[40][10][20];

f(b);
}
o
@ MNot{ oG LTTIOYPEWVEL N YAWOOQ 0€ ALTOV TOV nsptoptou
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Mapddetypa

#include <stdio.h> int main(void) {
#include <string.h> ints;
#define STUDENTS 3 const int grades[STUDENTS][EXAMS] =
#define EXAMS 4 {{77,68,86,731},
{96, 87,89,78 1},
/% function declarations %/ {70,90,86,81}1};

int min(const int [][[EXAMS], int, int);
int max(const int [J[EXAMS], int, int); printf("The array is:\n");

double average(const int [], int); print_array(grades, STUDENTS, EXAMS);
void print_array(const int [[[EXAMS], printf(”\n\n”
int, int); "Lowest grade: %d\n”
"Highest grade: %d\n”,
/* function definitions %/ min(grades, STUDENTS, EXAMS),
double average(const int student_grades[], max(grades, STUDENTS, EXAMS));
int tests) {
int i, total = 0; for(s = 0; s <= STUDENTS -1; s++) {
for(i = 0; i <= tests-1; i++) { printf(”Average for student %d: %.2f\n",
total = total + student_gradesli]; s, average(grades[s], EXAMS)); E
}

return (double) total / tests; return 0;

} }
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Mapddetypa (2)

int min(const int grades[][EXAMS], int max(const int grades[][EXAMS],
int students, int tests) int students, int tests)
{ {
inti, j, lowGrade = 100; inti, j, high_grade = 0;
for(i = 0; i <= students -1; i++) {
for(j =0;j <=tests-1; j++) { for(i = 0; i <= students -1; i++) {
if(grades[il[j] < low_grade) { for(j = 0; ] <= tests -1; j++) {
low_grade = gradeslil[j]; if(gradesl|ill[j] > high_grade) {
} high_grade = gradesl[il[j];
} }
} }
return low_grade; }
} return high_grade;
}
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Mapddetypa (3)

void print_array(const int grades[][EXAMS],
int students, int tests)
{

inti, j;
char array_name[] = "student_grades”;

for(i = 0; i <= strlen(array_name) + 3; i++) {
printf(” ”);
}
for(i =0;i <=tests-1; i++) {
printf(” [%d]"”);
}
for(i = 0; i <= students -1; i++) {
printf(”\nstudent_grades[%d]", i);
for(j = 0; ] <= tests -1; j++) {
printf("%5d”, gradeslilljl);
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Mapddetypa (3)

The array is:

[e1 [1] [2] [3]
student grades[0] 77 68 86 73
student grades[1] 9% 87 89 78
student grades[2] 70 90 86 81

Lowest grade: 68
Highest grade: 96
The average grade for student 0 is 76.00
The average grade for student 1 is 87.50
The average grade for student 2 is 81.75
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YnoAoyLopoc Mean, Median kat Mode

@ Mean - M€oog 6pog
01,1,2,2, 40
e Mean = (1+1+42+2+40)/5=19.2
@ Median - O peoaiog aplOuéC
1, 2,3,4,40
@ To median €{vat 3
@ Mode - O o ouxviG aplBudS
e1,1,1,2,3,3,4,40
@ To mode e{vat 1
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Mapddetypa

data-analysis.c

#include <stdio.h>

#define SIZE 99

/* function declarations %/
void mean(const int []);

void median(int []);

void mode(int [], const int []);
void bubble_sort(int []);

void print_array(const int []);

/* function definitions %/
void mean(const int answer[]) {
int i, total = 0;
printf(” * sk % % %k % %k k Mean s * * k% %% *x\n");
for(i = 0; i <= SIZE -1; i++) {
total += answerli];

printf("The mean is the average value of the data items.\n”
"The mean is equal to the total of all the data\n”
"items divided by the number of data items ( %d ).\n" E
"The mean value for this run is: %d / %d = %.4A\n\n",
SIZE, total, SIZE, (double) total / SIZE );
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Mapddetypa (2)

void median(int answer[]) {

printf(” * %k % %k %k % % %k Median > * % % % % % *x\n"
"The unsorted array of responses is:”);

print_array(answer);

bubble_sort(answer);

printf("\n\nThe median is element %d of\n”
"the sorted %d element array.\n”
"For this run the median is %d\n\n”,
SIZE / 2, SIZE, answer[ SIZE /2] );

}

void bubble_sort(int a[]) {
int pass, j, hold;
for(pass = 1; pass <= SIZE -1; pass++) {
for(j = 0; j <= SIZE -2; j++) {
if(alj] > alj+1]) {

hold = al[j];
aljl = alj+11;
alj+1] = hold; é

}
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Mapddetypa (3)

data-analysis.c

void mode(int freq[], const int answer[]) {
int rating, j, h, largest = 0, mode_value = 0;

printf(” * s %k %k %k x x Mode * % * %k *x*x*x\n");
for(rating = 1; rating <= 9; rating++) {
freq[rating] = 0;

}
for(j = 0; j <= SIZE -1; j++) {
++freglanswerljl];
printf(”%s%11s%19s\n”, "Response”, "Frequency”, "Histogram”);
for(rating = 1; rating <= 9; rating++) {
printf( "%8d%11d ", rating, freq[rating]);
if (freq[rating] > largest) {
largest = freqg[rating];
mode_value = rating;

}
for(h = 1; h <= freqg[rating]; h++) {
printf(”*"); é

b
printf("\n");
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Napdadetypa (4)

data-analysis.c

void print_array(const int a[]) {
int j;
for(j = 0; j <=SIZE -1; j++) {
if(j %20 ==0) {
printf("\n");

}
printf(” %2d”, aljl);
}
}
int main(void) {
int frequency[10] = {0};
int response[SIZE] = {

6,7,81918,7,8,918,9,7,895,928,7,8,78,6,7,8,9, 3,
9,87,87,7,89278,928,97896,78,7,8,7,9238,09,2,
7,8,9,8,9,8,9,7,53,56,7,2,53,9,46,4,7,8,9, 6, 8,
7,89, 7,8,7,4,4,2,5,3,8,7,56,45,6,1,6,5 7,8 7},
mean(response);
median(response);
mode(frequency, response); é
return 0;
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Mapadetypa: EEodoc

sokkokkokkk Magn kkkkokkokk

The mean is the average value of the data items.
The mean is equal to the total of all the data
items divided by the number of data items ( 99 ).
The mean value for this run is: 681 / 99 = 6.8788
*kkkkkkk Medign Fkkkkkkx
The unsorted array of responses is:
6 7 8 9 8 7 8 9 9 7 8 9 59 8 7 8 7 8
6 7 8 9 3 9 87 8 7 7 8 98 9 8 9 7 89
6 7 8 7 8 7 98 9 27 8 98 9 8 9 7 5 3
56 7 25 3 9 46 47 8 96 87 8 9 7 8
7 4 4 25 38756 456 165787
The median is element 49 of
the sorted 99 element array.
For this run the median is 7
*Ekkkkkkk Mode FkEkkkkkk
Response Frequency Histogram
1 *
2 3 *kkok
3 4 Kok kK
4 5 Kk ok k ok
5 8 Kk ok ok ok Kok k
6 9 Kok ok ok ok Kok k ok
7 23 ok Kok Kok k
8 27 3k 3k ok ok ok ok ok ok ok ok ok ok ok ok ok ok ok ok ok ok ok >k ok Kok Kok
9 19 >k 3k 3k ok K ok >k ok K ok ok ok Kk ok ok ok ok >k
The mode is the most frequent value.
For this run the mode is 8 which occurred 27 times.




	Εισαγωγή

